DO NOW

Write the equation of a line that has
a slope of -2 and a y-intercept of 7.
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Examples: Write the equation of the line in slope intercept form.
R ,  FWIsH as y:mx«vb

Given:
-5

= H
b=y
SJraH‘er

=mX

—%x +Y

3. Slope = 3; y-intercept =-2 4. P(0, 6) and slope = 2
> bt 3
Given: ™

Stortey: y=mx+b Storter: y=mx+b
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8. perpendiculz?r\fc?e = 3x - 2 and passes through (3, 5).
"M=3 X - y .
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3.4 Writine An Equation Given SI
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and a Point
STARTER
Slope Intercept Form: =X + b = N?SR RER

C’J‘UEN \/‘/‘\‘?z‘S\OPC"

|Diaa | wmi’firccpjr

Point Slope Form: —Z‘:VYW(X"X,> W

Do T

replad

X Ory.
@ ‘(CFIOL& m and ( I)\/I)

Glven

Standard Form:

*D0 NOT supstihule

= slope v

(M\/l]\/‘ - ‘.Jmmi . \R
tBy=C FIN(SHE

! B/mh Hhis Form

¥ Tells what the answer peeds to [pol ke
s A canNOT be negative

# NO ERACTIONS

£ P(IX,‘ -ZL‘) and slope =0
Gven: Point m

storter: Y=Y =m(ex)

S{OP&
7. parallel to 2y - 3x =

Given
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y=1=0k-")
y*=0
y=0-4

R
7(:%1—2

7z Z
7/:
m

[

W
=
+

)

W) R

1

"

6. P(4, 1) and slope 73

en: 'k, R\}. "

starter: “i=mx-x,
;{—l :%(x—-%g
Y- = 3(x+4)
\/_\:3X+12

Examples: Write the equation of the line in standard form.

9. P2,

A _
Sant >

H =T

be nejox
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3)andm=35
Y- =m(x=x)
y-3=5(x-2)
\/—5—~5><-IO
— 5x-10+?

Yé: ox=7
X +

Finisp %AXTB\/:C




10. pe endlcular to y=4x + 1 and passes through (2, 3)

m=Y4

Lm=-g

N = (X“X\\

e

V-3="4 (05 (F)

Vit — ot
H(y-2)= (HX+‘> Tty by LcD=
L{y’ll:ﬂ(qx)«b"((z)

L{y—!l =X +
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HOMEWORK

Worksheet - HW 3.4 Writing Equations
Given Slope and a Point



